Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

50, will be treated as malpractice.

USN 15CS51
Time: 3 hrs.
Note: Answer any FIVE full questions, cho
1 a (06 Marks)
b. (10 Marks)
2 a

process.

(12 Marks)
b. What are MBO and

(04 Marks)

3 a (06 Marks)
b. (10 Marks)
4 a. (10 Marks)
b.
(06 Marks)
5 a. (04 Marks)
b. (12 Marks)
6 a
a2 Marks)

b. erte short notes on: (i) Procrastination (i1) Tygng your dreams to age (04 Marks)

7 (04 Marks)
(12 Marks)
8 (06 Marks)
(10 Marks)

Module-5
9 a. Explain the following:

()NSIC (i) DIC % (iii) NIMSMIET  (iv) NIESBUD  (v)KSFC (10 Marks)

b. Justify WTO and its impact on Small Scale Industries in India. (06 Marks)

J OR
10 a. Whatis TECS K" Explam the services offered by TECSOK. (10 Marks)
b. Explain the dims and objectives of KIADB. (06 Marks)
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50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

Time: 3 hrs.

10

Module-1
Explain HTTP messages.
Explain web caching with diagram.

OR
Explain FTP with its cqmmands and replies.
Explain SMTP. .

Explain DNS resource record.

Module-2

Explam Sender’s view of sequence numbers and its operatlon in Goback N protocol.

Draw TCP segment structure and explam

OR .
Explain 3 way handshake and closing a TCP connection.
Explain the causes and costs of congestion.

Module—3
With diagram explaln router architecture.
Explain IP fragmentation. :

OR

Explain distance vector algorifhrp. :
Explam 4 types of hierarchical OSPF routers.
Compare link state w1th dls nce vector algorlthm

Module-4

‘Explain components: of a cellular network architecture.

Explain direct routing of a mobile nodﬁe

OR
Explain steps of handoff a mobile user.
Explain HLR, VLR, home address, care-of-address.

Module-5
With diagram, explain naive architecture for audio/video streaming.
Explain audio compressron in internet.

OR

With diagram, explain interaction between client and server using RTSP.

Explain how streaming from streaming server to a media player is done.

* ok ok kX
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Note: Answer any FIVE full questions; :’hoos”ing ONE full question from each module.

(08 Marks)
(08 Marks)

(08 Marks)
(04 Marks)
(04 Marks)

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

(08 Marks)
(04 Marks)
(04 Marks)

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)

(08 Marks)
(08 Marks)



Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN

15CSS53

Fifth Semester B.E. Degree Examination, Dec.2018/Jan.2019
Database Management System

Time: 3 hrs. ) Max. Marks: 80

1 a.
b.
G

2 a.
b.

3 a
b.
c.

4 a.
b.

Note: Answer any FIVE full questions, choosing ONE full question from each module.

Module-1
What are the responsibilities. of the DBA and Database Designer? (06 Marks)
With neat diagram, explain “three schema Architecture”. (05 Marks)
Discuss the different types of user friendly mterfaces and the types of user who typically use
each. " , (05 Marks)
OR
Explain with block diagram the different.phases of database design. (08 Marks)
Draw an ER-Diagram of movie database. Assume your own entities (minimum 4) attributes
and relationships. (08 Marks)
Module-2 )
Discuss the characteristics of relations. ; (06 Marks)

Outline the steps to convert:the basic ER Model to relational Database schema (06 Marks)
Define the following:

1) Relation state

ii)  Relation sehema

iiiy'  Arity

iv)  Domain,. (04 Marks)
,,,,,, OR ‘

Discuss the various types of'set theory operations with example. (08 Marks)

Consider the two tables, show the results of the following:

T] T2
A [B]C P [Q[R
10 | a |5} 10/b |6
15|b .8 25|c |3
25]a |6 10|b |5
1) Tl i T:— 11) Tl ]><1 "J—
T+8=T;q Ty A=Tye
i) T opa L iv)  Ti-T,

(‘ul’wKP)wo(l c =TyR)
(08 Marks)
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Module-3
How does SQL implement the entity integrity constraints of the relational data model?
Explain with an example. (04 Marks)
Discuss: i) Shared variables  ii) Communication-variables. (06 Marks)
Explain with examples in SQL:
1)  Drop command
i)  Delete command ’ :
iii) Update command. g (06 Marks)

OR

With program segment, explain retrieving of tuples with embedded SQL in C. (06 Marks)

Consider the following tables; -

works (Pname, Cname, Salary)

lives (Pname, Street, City)

located-In (Cname, City)

write the following queries in SQL:

1) List the names of the people who work for the company ‘Wipro’ along with the cities
they live in.

ii)  Find the names of the persons who do not work for ‘Infosys’.

iii)  Find the people whose salaries are more than that of all of the ‘oracle’ employees.

iv) _Find the persons who works and lives in the same 01t o (10 Marks)

Module-4 -
What do you mean by closure of attribute? Write-an algonthm to ﬁnd closure of attribute.
; (06 Marks)
Explain any two informal quality measures employed for a relatlon schema design.
(04 Marks)
Given below are two sets of FDs for a relatron R(A,B,C,D, E) Are they equivalent?
i) A-B, AB—>C, D—)AC D—>E |

i) A—->BC, D— AE Py, , | (06 Marks)

- OR
What do you mean by multivalued dependency? Explain the 4NF with example. (06 Marks)
Suggest and explain three different techniques to achieve INF using suitable example.
(04 Marks)
Consider the following relation for CARSALE (CAR-NO, Date-Sold, Salesman No,
Commission, Discount)
Assume a car can be sold by multiple salesman and hence primary key is
{CAR_No, Salesman_No}. ™
Additional dependencies are
Date_Sold - Discount
Salesman No — Commission
i) Is this relation in INF, 2NF or 3NF? Why or why not?

ii)  How would you normalize this completely? (06 Marks)
Module-5
Discuss the ACID properties of a transaction. (04 Marks)
What are the anomahes occur due to interleave execution? Explain them with example.
¢ (06 Marks)
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C. Consider the three transactions T;, T, and T; and:schedules S; and S, given below.
Determine whether each schedule is serializable or not? If a schedule is serializable write
down the equivalent serial schedule (S).

Ty :Ri(x); Ri(z); Wi(x);
T2 1 Ra(x); Ra(y); Wa(z); Wa(y);
T3 : Ry(x); Ra(y); Ws(y);

S1: Ri(x); Ra2); Ri(2); Ra(x); R(y); WilK); Wa(y); Ra(y); Wa(z); Wa(y);
2 Ri(x); Ra(2); Rs(x); Ru(2); Ray)s Ra(y); Wi(x); Wa(2); Wily)s Wa(y);

(06 Marks)
OR
a. Describe the problems that occur when concurrent execution uncontrolled. Give examples.
(06 Marks)
b.  What is two phase locking? Describe with the help of an example. (04 Marks)
c.  What is Deadlock? Consider the following sequences of actions listed in the order they are
submitted to the DBMS.
Sequence S1: Ri(A); Wa(B); Ri(B); R3(C); Wo(C); Wa(B); W3(A)

Draw waits-for graph in case of Deadlock situation. (06 Marks)
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50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN 15CS54
Dec.2018/Jan.2019
Automata Theory and Computability
Time: 3 hrs. Max. Marks: 80
Note: Answer any FIVE full questions, ch
. Module-1
1 Define the following with example :

i) String ii) Language  iii) Alphabet iv) DFSM. (08 Marks)
Design a DFSM to accept each of the following languages :
) L={We{0,1} : W has 001 as a substring}

ii) L={W e {a, b} : W has even number of a’s an en number of b’s}. (08 Marks)

y OR
Define NDFSM. Convert the following NDFSM to its equivalent DFSM. (08 Marks)

(08 Marks)

. Module-2
egular expression and write Regular expression for the following language.

) L={"b™|n>0,m>0"} (08 Marks)
i) L= {a"b" | m>1,
‘Obtain the Regular expr (08 Marks)
OR
Define a Regular grammar, Design regular grammars for the following languages.
i) Strings of a’s and b’s with at least one a.
ii) Strings of a’s and b’s having strings without ending with ab.
iif) Strings of 0’s-and 1’s with three consecutive 0’s. (08 Marks)
State and prové‘;pu'rhping theorem for regular languages. (08 Marks)
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Module-3
Define context free grammar. Design a context free’ grammar for the languages. (08 Marks)

) L={0"1"2"|m>0,n>0} iy L=falbl|izj,i20,j20}
iii) L={a"b" |n>3}. N
Consider the grammar G with production.
S — AbB
A— aAle
B—aB|bB|e
Obtain leftmost derivation , rightmo

(08 Marks)

derivation and parse tree for the string aaabab.

Define a PDA. Obtain a PDA

L={a"b"| W e {a, b} }. Draw the transition diagram. (08 Marks)
Convert the followin ar into equivalent
(08 Marks)
(10 Marks)
(06 Marks)
Design a Turing machi 0 accept the langﬁifge L={0"1"2"|n21}. (08 Marks)
Design a Turing machine to accept strings of a’s and b’s ending with ab orba. (08 Marks)
Explain the following : ,
i) Nondeterministic Turing i ii ulti =t (06 Marks)
(06 Marks)
(04 Marks)
(06 Marks)
(06 Marks)

(04 Marks)




50, will be treated as malpractice.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.
2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

e 15CS553
Fifth Semester B.E. Degree Examination, Dec.2018/Jan.2019
Advanced JAVA and J2EE

Time: 3 hrs. dmy™ Max. Marks: 80
Note: Answer any FIVE full questions, choosmg ONE Sfull question from -each module.
Module 1
1 What is auto-boxing? Write a program to demonstrate autoboxmg/unboxmg (05 Marks)

What do you mean by type wrapper" Explain numeric type wrapper with an example

program in JAVA, o 0 (05 Marks)

Explain the following methods of java.lang. Enum with an example

i) ordinal( ) ii) compareTo( ) iii) equals( ) (06 Marks)

‘ OR
2 Demonstrate single:annotation with an example. (04 Marks)

Explain following built-in annotations with a program in Java:

i) @Override =~ ii) @Inherited iii) @Retention (06 Marks)

Explain different retention policies for annotations in Java. (06 Marks)

-~ Module-2
3 Fxplam ArrayList. Write a program to demonstrate how ArrayLrst can be used to insert and
remover string. (08 Marks)

Explain Queue interface. Explam different methods deﬁned by Queue (08 Marks)

O o ¥ e
4 Create a class STUDENT with two private. strmg members; USN, Name using LinkedList
class in Java, write a program to add atleast 3 Ob]CCtS of above STUDENT class. Also
display the data in neat format. @ : (08 Marks)

Explain ArrayList class and explain followmg methods:

1) binarySearch ii) copyOf k © - dii) equals  iv)fill (08 Marks)

~ - Module-3
5 Explam followmg StrmgBuffer methods with an example:

1) insert ii) append ii1) replace iv) substring (08 Marks)
Differentiate String and StringBuffer class. Write a program to demonstrate different
~construction of String class. (08 Marks)

: OR
6 Write a program to remove duphcate characters from a given string and display the resultant
btrll’lg (06 Marks)

Differentiate between equals( ) and = = with respect to string with a program. (06 Marks)

Explain following character extraction method: i) charAt( ) ii) toCharArray() (04 Marks)

Module-4
7 What is the role of Tomcat server? Explain different steps involved in configuring for
development of servlet program execution. (08 Marks)

Write a Java servlet program to accept two parameter from webpage, find the sum of them,
display the result in web page. Also give necessary html script to create web page. (08 Marks)
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OR Ay,

Explain different JSP tags with a program to demonstrate éill:?‘tags. (08 Marks)

What are cookies? How cookies are handled in JSP? Write a program to create with name

“Username” and cookie value “xyz”. Also display stored cookie in webpage. (08 Marks)
Module-5

What are database drivers? Explain d1fferent JDBC driver types. (08 Marks)

List and explain various statement object (08 Marks)

Explain different steps involved i in JD]C process, with a code smppet Also give exception

handling block. / ~ (08 Marks)

Write a program to connect to database with following 1nformat10n

Drive: JDBC/ODBC bridge

URL: “jdbc.odbe:Ex”

Username: “xyz”

Password: “123”

Retrieve all rows with marks > 60 using prepared statement object. Assume following table:

Table Name : STUDENT ;

Fields : USN-Varchar (20)
Marks-int
Name-Varchar (25)

(08 Marks)

sk ok sk ok 3k
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blank pages.

Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining

50, will be treated as malpractice.

appeal to evaluator and /or equations written eg, 42+8

2. Any revealing of identification,

USN 15CS562
Fifth Semester B.E. Degree Examination, Dec.2018/Jan.2019
Artificial Intelligence

Time: 3 hrs. - ‘Max. Marks: 80
Note: Answer any FIVE full questions, choosing ONE full question froin each module.
- Module-1 ”
1 a. Define Artificial Intelligence and list the task domains of Attificial Intelligence. (06 Marks)
b. State and explain algorithm for Best First Search with an example. (06 Marks)
c. Explain production system. (04 Marks)
- B OR K
2 a. Write a note on Water Jug problem using production 1 (08 Marks)
b. Explain simulated annealing. 5 (04 Marks)
c. Explain problem,reduétion with respect to AND-OR graphs. (04 Marks)
e Mo dule—2
3 a. Explain the approaches to knowledge representation. (10 Marks)
b. Write a note on control knowledge. - ' ) (06 Marks)
4 a. State the algorithm to Unify (L, L2). =5 ; (06 Marks)
b. Write the algorithm for conversion to clause form, (10 Marks)
5 a. Explain Justification based Truth Maintenance System (TMS) with an example. (08 Marks)
b. Write a note on Non-Monotonic logic and default logic. L (04 Marks)
c. Explain abduction and inheritance. o (04 Marks)
OR U
6 a. Write a note on Dempster Shafer theory. = (08 Marks)
b. Define semantic network with an example. — (04 Marks)
c. State Baye’s theorem. e ; (04 Marks)
Module-4 .
7 a. Explain conceptual dependency along with its goals and representation. (08 Marks)
b.. Give the reasons to build large databases. (04 Marks)
c. Write a note on iterative deepening. .~ (04 Marks)
8 a. Write anote on global ontology. (10 Marks)
b. Explain Minimax search procedure. (06 Marks)
Module-5
9 a. Define leaming and give the difference between neural net learning and genetic learning.
§ (06 Marks)
b. Write a note on Knowledge acquisition. (06 Marks)
c. Explain Rote learning. (04 Marks)
N OR
10 a. Explain the five phases of natural language processing. (10 Marks)
b. Explain spell checking techniques. (06 Marks)
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50, will be treated as malpractice.

agonal cross lines on the remaining blank pages.
and /or equations written eg, 42+8

2. Any revealing of identification, appeal to evaluator

Important Note : 1. On completing your answers, compulsorily draw di

USN v 15CS564
Fifth Semester B.E. Degree Examin%@n, Dec.2018/Jan.2019
Dot Net Frame Work for Appw‘ation Development
L A
Time: 3 hrs. %a ~ gI\@&x Marks: 80
Note: Answer any FIVE full questionsgehoosing ONE full question @'o each module.
Module-1
1 a. Explain Namespaces and Assen in brief. (04 Marks)
b. Explain concept of named argurgénts with programming example. (06 Marks)
c. Write a C # program to fif fictorial of a given numbefg? (06 Marks)
R ¥
2 a. Explain how to usg® 6%ﬂe, for, and do statemenfs to execute code repeatedly while some
Boolean conditiényig true with an example. , % o (08 Marks)
b. Define Excep,gign. ‘Explain how to catch«iéda andle exceptions by using the try and catch
constructs skith'programming example. ’ ‘ : (08 Marks)
-
, 4 ‘M8 dule-2
3 a. Explain Anonymous classes, witf%?éﬁ%xample. (04 Marks)
b. Explain Boxing and Unboxing, with an example. (06 Marks)
c. Explain how arguments ar%@&gsed as method par: out’ keywords.
A NS (06 Marks)
: e )
¢ o} O i
4 a. Define Constructqggﬁxplain constructor oyerJdading with a p cf%%nmin g example.
9,? (08 Marks)
b. Write a C # pro; to compute roy@and column sum,of fectangular array. (08 Marks)
&
' @ Y Module-3
5_a Expla@% concept of pa%&cr_a with programmiing example. " (06 Marks)
b. Define itheritance. Explaify Row to create a derived class that inherits features from a base
%ass’fwith an example L : (06 Marks)
c. @lain Abstract class ag;ldg bstract methg% an example. o (04 Marks)
Pyl L . 5
%‘, ) Y } :
~ OR .
6 a. Explain how tg manage system re‘o‘i}aﬁ“‘es by using Garbage collector. e (06 Marks)
b. Explain hoy tddfiplement interféé&iﬁva class with programming example. (06 Marks)
c. Explain Se%classes and Sealgd thethods in brief. (04 Marks)
@3 Module-4
7 a. Explain read — only and"Wijte — only properties with an example. (04 Marks)
b. Compare indexers and arrays with an example. (04 Marks)
c. Explain Binary tr%g;&%lgorithm, with an example. (08 Marks)
3 o
OR
8 a. Whatis an Indexer? List and explain set of operators provided by C # that you can use to
_ access arfdsmanipulate the individual bits in an int. (08 Marks)
b. Expla ed list < T > collection class with programming example. (08 Marks)
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Module-5 TR H
Explain how to implement an enumerator manu% th an example. -~ . - " (06 Marks)
Define Delegate. Explain how to declare de ith an example. - . ' (05Marks)
Explain how to handle and event by usin g3 e%egate with an example % - (05 Marks)

o

o

ing and ordering data, wit E 4 example. (08 Marks) -

a. What is LINQ? Explain LINQ to sgle
r constraints with a progray ing example. (08 Marks) -

b. Explain Operator overloading a&

20f2




Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank pages.

50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8

USN ~ 15CS565
Fifth Semester B.E. Degree Examma@n, Dec.2018/Jan.2019
Cloud COmp‘%tmg
Time: 3 hrs. % ‘g‘x Marks: 80

10

Note: Answer any FIVE full questionsg%po ng ONE full question fro each module.

&

IS

%Module- P \w@%
What is Cloud Computing? Ex %i;he Cloud Computing Reference Model. (07 Marks)
Explain the following : iﬁ 4
a

i) Amazon Web Ser'vice&' Manjrasoft Aneka 11@%% Mlcrosoﬁ Azure. (09 Marks)

" { OR

What is Virtualizatjon2EXplain the pros and cons £ V’ rtualization. (08 Marks) -

What is Xen? Disc%&ts elements for virtualization. (08 Marks)
Moduie- ’

Explain thegélh d Computing Architecture. ¥ (08 Marks)

What is, %}éontamer? Which t}gaes St services are hosted inside the Aneka Container?

A g e (08 Marks)

(08 Marks)

(08 Marks)

Moduless g

Explain the different te¢hniques for paralleﬁe&% utation. . (08 Marks)
Describe the majorndifferences between}Weka Thread @aﬁ Eocal Thread with a neat

diagram. ! ‘ " (08 Marks)

A
fm%#{
Explain t@efollowmg ﬁameworﬁ“‘" for Task computlﬁ 5:1) Condor “ii) Globus Toolkit
iii) Sut Cg‘fﬂd Engine (SGE %*j By (09 Marks)
out offspring A.r@ecture with a neat dlagram (07 Marks)
. ’ Modul
the Open Chall@:ggé in data — intensivécomputing. (08 Marks)
xplain the Ane apReduce Infrastrugture (08 Marks)

OR

a. Whatis Bl% eat diagram. (08 Marks)
b. Explain the folfowing MapReduge — ~ like frameworks :
i) Pig i) Hive i%}-[adoop iv) Twister. (08 Marks)
Module-5 v

a. Describe how cloud computing technology can be applied to support remote ECG
monitoring. g‘j (08 Marks)
b. Whatis AWS?, ﬁ%ype of services does it provide? (08 Marks)

é OR
a. Explain tHe,Google AppEngine platform architecture. (08 Marks)
b. Write §ﬁ rt-notes on the following :i) Animoto il) Maya rendering. (08 Marks)
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